

M. K. Aouf, M. A. Al. Yamy

COEFFICIENT ESTIMATES FOR CERTAIN CLASS OF ANALYTIC FUNCTIONS OF COMPLEX ORDER AND TYPE BETA

Abstract. Let $f(z) = z + \sum_{n=k+1}^{\infty} a_n z^n$ belong to the class $S(1-b, \beta)$, $b \neq 0$, complex and $0 < \beta \leq 1$. In this paper, we determine sharp coefficient estimates for functions of the form $f(z)^t = z^t + \sum_{n=t+k}^{\infty} a_n^{(t)} z^n$, where t is a positive integer. The results obtained generalize the work of many authors.

1. Introduction

Let A denote the class of functions

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

which are analytic in the unit disc $U = \{z : |z| < 1\}$. A function $f(z)$ in A is said to be starlike of complex order $1-b$ and type β if it satisfies

$$(1.2) \quad \left| \frac{\frac{zf'(z)}{f(z)} - 1}{2\beta\left(\frac{zf'(z)}{f(z)} - 1 + b\right) - \left(\frac{zf'(z)}{f(z)} - 1\right)} \right| < 1 \quad (z \in U)$$

for some b ($b \neq 0$, complex) and β ($0 < \beta \leq 1$). We denote by $S(1-b, \beta)$ the subclass of A consisting of all such functions. The class $S(1-b, \beta)$ was studied by Aouf, Owa and Obradovic' [3].

MacGregor [11] obtained upper bounds for the moduli of the coefficients of a starlike function whose power series representation in U is of the form

$$(1.3) \quad f(z) = z + \sum_{n=k+1}^{\infty} a_n z^n.$$

Boyd [5], Srivastava [22], Mogra and Juneja [15], Aouf [1, 2] and Owa and Aouf [18] extended MacGregor's result to many classes of analytic functions.

In this paper, we determine sharp coefficient bounds for functions of the form

$$(1.4) \quad f(z)^t = z^t + \sum_{n=k+1}^{\infty} a_n^{(t)} z^n$$

where $f(z) \in S(1-b, \beta)$ and t is a positive integer. The results obtained refine and generalize the corresponding results of MacGregor [11], Boyd [5], Libera [10], Srivastava [22], Gopalakrishna and Shetiya [7], Aouf [1, 2], Owa and Aouf [18], Mogra [13] and Mogra and Juneja [15].

2. Coefficient estimates

We shall use the following lemmas in our investigation.

LEMMA 1. *If k , t and q are positive integers, then we have*

$$(2.1) \quad 4\beta^2 t^2 |b|^2 + \sum_{m=1}^{q-1} \{ |(2\beta-1)mk + 2\beta tb|^2 - m^2 k^2 \} \\ \times \left\{ \frac{1}{m!} \prod_{j=0}^{m-1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right| \right\}^2 \\ = \left\{ \frac{k}{(q-1)!} \prod_{j=0}^{q-1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right| \right\}^2.$$

This lemma can be easily proved by induction on q .

LEMMA 2. *If k , t and q are positive integers, then we have*

$$(2.2) \quad (n-t)^2 \geq \frac{(qk)^2 \{ |(2\beta-1)(n-t) + 2\beta tb|^2 - (n-t)^2 \}}{|(2\beta-1)qk + 2\beta tb|^2 - (qk)^2}$$

for $n \geq t + qk$.

The proof is straightforward and we omit it.

THEOREM 1. *Suppose that $f(z) = z + \sum_{n=k+1}^{\infty} a_n z^n \in S(1-b, \beta)$ and for integer $t \geq 1$, let*

$$f(z)^t = z^t + \sum_{n=t+k}^{\infty} a_n^{(t)} z^n.$$

(a) *If $\beta t[(n-t) \operatorname{Re}\{b\} + t|b|^2] > (1-\beta)(n-t)[(n-t) + t \operatorname{Re}\{b\}]$. Then*

$$(2.3) \quad |a_n^{(t)}| \leq \frac{k}{(n-t)(m-1)!} \prod_{j=0}^{m-1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right|$$

for $t + mk \leq n \leq t + (m + 1)k - 1$, $m = 1, 2, 3, \dots, M + 1$ and

$$(2.4) \quad |a_n^{(t)}| \leq \frac{k}{(n-t)(M+1)!} \prod_{j=0}^{M+1} \left| (2\beta - 1)j + \frac{2\beta tb}{k} \right|$$

for $n > t + (M + 2)k - 1$, where $M = [G]$ (Gauss symbol) and

$$G = \frac{\beta t[(n-t)\operatorname{Re}\{b\} + t|b|^2]}{(1-\beta)(n-t)[(n-t) + t\operatorname{Re}\{b\}]}.$$

(b) If $\beta t[(n-t)\operatorname{Re}\{b\} + t|b|^2] \leq (1-\beta)(n-t)[(n-t) + t\operatorname{Re}\{b\}]$, then

$$(2.5) \quad |a_n^{(t)}| \leq \frac{2\beta t|b|}{(n-t)} \quad \text{for } n \geq t + k.$$

The estimates (2.3) are sharp for $n = t + mk$, $m = 1, 2, \dots$; $t = 1, 2, \dots$, while the estimates in (2.5) are sharp for all n .

Proof. Let

$$g(z) = \frac{1}{t} \frac{z(f(z)^t)'}{f(z)^t} = \frac{zf'(z)}{f(z)}.$$

Define

$$(2.6) \quad \begin{aligned} h(z) &= \frac{g(z) - 1}{2\beta b + (2\beta - 1)(g(z) - 1)} \\ &= \frac{z(f(z)^t)' - tf(z)^t}{2\beta tb f(z)^t + (2\beta - 1)[z(f(z)^t)' - tf(z)^t]} \\ &= \sum_{n=k}^{\infty} h_n z^n. \end{aligned}$$

By (1.2), $h(z)$ is regular in U and satisfies $|h(z)| < 1$. Equating the coefficients of the same powers on both sides of the equation

$$z(f(z)^t)' - tf(z)^t = h(z)\{2\beta btf(z)^t + (2\beta - 1)[z(f(z)^t)' - tf(z)^t]\}$$

or

$$(2.7) \quad \begin{aligned} &\sum_{n=t+k}^{\infty} (n-t)a_n^{(t)}z^n \\ &= \left(\sum_{n=k}^{\infty} h_n z^n \right) \left\{ 2\beta b z^t + \sum_{n=t+k}^{\infty} [(2\beta - 1)(n-t) + 2\beta bt] a_n^{(t)} z^n \right\}, \end{aligned}$$

we obtain the relations

$$(2.8) \quad va_{t+v}^{(t)} = 2\beta bth_v, \quad v = k, k+1, \dots, 2k-1.$$

Since $|h(z)| < 1$, we have $\sum_{n=k}^{\infty} |h_n|^2 \leq 1$ and therefore

$$(2.9) \quad \sum_{n=k}^{2k-1} |h_n|^2 \leq 1.$$

From (2.8) and (2.9) we obtain

$$(2.10) \quad \sum_{v=k}^{2k-1} v^2 |a_{t+v}^{(t)}|^2 \leq 4\beta^2 t^2 |b|^2.$$

We rewrite (2.7) in the form

$$\begin{aligned} \sum_{n=t+k}^p (n-t) a_n^{(t)} z^n + \sum_{n=p+1}^{\infty} d_n z^n \\ = h(z) \left\{ 2\beta b z^t + \sum_{n=t+k}^{p-k} [(2\beta-1)(n-t) + 2\beta t b] a_n^{(t)} z^n \right\}. \end{aligned}$$

Multiplying each sides of this by its conjugate, integrating around $|z|=r < 1$ and letting $r \rightarrow 1$ yields the inequality

$$(2.11) \quad \sum_{n=t+k}^p (n-t)^2 |a_n^{(t)}|^2 \leq 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{p-k} |(2\beta-1)(n-t) + 2\beta t b|^2 |a_n^{(t)}|^2$$

from which we obtain

$$(2.12) \quad \sum_{n=p-k+1}^p (n-t)^2 |a_n^{(t)}|^2 \leq 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{p-k} \{ |(2\beta-1)(n-t) + 2\beta t b|^2 - (n-t)^2 \} |a_n^{(t)}|^2.$$

Now two cases arise:

(a) If $\beta t[(n-t) \operatorname{Re}\{b\} + t|b|^2] > (1-\beta)(n-t)[(n-t) + t \operatorname{Re}\{b\}]$,

then by an inductive argument we will establish the inequalities

$$(2.13a) \quad \sum_{n=t+mk}^{t+(m+1)k-1} (n-t)^2 |a_n^{(t)}|^2 \leq \left\{ \frac{k}{(m-1)!} \prod_{j=0}^{m-1} \left| (2\beta-1)j + \frac{2\beta t b}{k} \right| \right\}^2$$

and

$$(2.13b) \quad \sum_{n=t+mk}^{t+(m+1)k-1} \{ |(2\beta-1)(n-t)2\beta tb|^2 - (n-t)^2 \} |a_n^{(t)}|^2 \\ \leq \{ |(2\beta-1)mk + 2\beta tb|^2 - m^2 k^2 \} \left\{ \frac{1}{m!} \prod_{j=0}^{m-1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right| \right\}^2$$

for $m = 1, 2, \dots, M+1$, where $M = [G]$, G is given by

$$G = \frac{\beta t[(n-t) \operatorname{Re}\{b\} + t|b|^2]}{(1-\beta)(n-t)[(n-t) + t \operatorname{Re}\{b\}]}$$

and $[G]$ is the greatest integer not greater than G .

For $m = 1$, (2.13a) gives

$$\sum_{n=t+k}^{t+2k-1} (n-t)^2 |a_n^{(t)}|^2 \leq 4\beta^2 t^2 |b|^2,$$

which is true by (2.10). Thus (2.13a) is valid for $m = 1$. To prove (2.13b) for $m = 1$, we use Lemma 2 and (2.10) as follows:

$$\sum_{n=t+k}^{t+2k-1} \{ |(2\beta-1)(n-t) + 2\beta tb|^2 - (n-t)^2 \} |a_n^{(t)}|^2 \\ \leq \frac{\{ |(2\beta-1)k + 2\beta tb|^2 - k^2 \}}{k^2} \sum_{n=t+k}^{t+2k-1} (n-t)^2 |a_n^{(t)}|^2 \\ \leq \frac{4\beta^2 t^2 |b|^2}{k^2} \{ |(2\beta-1)k + 2\beta tb|^2 - k^2 \}.$$

Now suppose that (2.13a) and (2.13b) hold for $m = 1, 2, \dots, q-1$. Using (2.12) with $p = t + (q+1)k - 1$ and the inductive hypothesis concerning (2.13a) we obtain the inequalities

$$\sum_{n=t+qk}^{t+(q+1)k-1} (n-t)^2 |a_n^{(t)}|^2 \\ \leq 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{t+qk-1} \{ |(2\beta-1)(n-t) + 2\beta tb|^2 - (n-t)^2 \} |a_n^{(t)}|^2 \\ = 4\beta^2 t^2 |b|^2 + \sum_{m=1}^{q-1} \sum_{n=t+mk}^{t+(m+1)k-1} \{ |(2\beta-1)(n-t) + 2\beta tb|^2 - (n-t)^2 \} |a_n^{(t)}|^2$$

$$\begin{aligned} &\leq 4\beta^2 t^2 |b|^2 + \sum_{m=1}^{q-1} \{ |(2\beta - 1)mk + 2\beta tb|^2 - m^2 k^2 \} \\ &\quad \times \left\{ \frac{1}{m} \prod_{j=0}^{m-1} \left| (2\beta - 1)j + \frac{2\beta tb}{k} \right| \right\}^2 \quad \text{by using Lemma 1.} \end{aligned}$$

This last sequence of inequalities implies (2.13a) where $m = k$. Continuing our argument, we use Lemma 2 and (2.13a) with $m = q$ to deduce (2.13b) for $m = q$ as follows:

$$\begin{aligned} &\sum_{n=t+qk}^{t+(q+1)k-1} \{ |(2\beta - 1)(n - t) + 2\beta tb|^2 - (n - t)^2 \} |a_n^{(t)}|^2 \\ &\leq \frac{|(2\beta - 1)qk + 2\beta tb|^2 - q^2 k^2}{q^2 k^2} \left\{ \frac{k}{(q - 1)!} \prod_{j=0}^{q-1} \left| (2\beta - 1)j + \frac{2\beta tb}{k} \right| \right\}^2 \\ &= \{ |(2\beta - 1)qk + 2\beta tb|^2 - q^2 k^2 \} \left\{ \frac{1}{q!} \prod_{j=0}^{q-1} \left| (2\beta - 1)j + \frac{2\beta tb}{k} \right| \right\}^2. \end{aligned}$$

This completes the proof of (2.13a) and (2.13b). Now (2.3) follows from (2.13a).

To prove (2.4), suppose $n > t + (M + 2)k - 1$. Putting $p = t + (q + 1)k - 1$ in (2.12), we have

$$\begin{aligned} &\sum_{n=t+qk}^{t+(q+1)k-1} (n - t)^2 |a_n^{(t)}|^2 \\ &\leq 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{t+qk-1} \{ |(2\beta - 1)(n - t) + 2\beta tb|^2 - (n - t)^2 \} |a_n^{(t)}|^2. \end{aligned}$$

Hence for $n > t + (M + 2)k - 1$, we have

$$\begin{aligned} (n - t)^2 |a_n^{(t)}|^2 &\leq 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{t+qk-1} \{ |(2\beta - 1)(n - t) + 2\beta tb|^2 - (n - t)^2 \} |a_n^{(t)}|^2 \\ &= 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{t+(M+2)k-1} \{ |(2\beta - 1)(n - t) + 2\beta tb|^2 - (n - t)^2 \} |a_n^{(t)}|^2 \\ &\quad + \sum_{n=t+(M+2)k}^{t+qk-1} \{ |(2\beta - 1)(n - t) + 2\beta tb|^2 - (n - t)^2 \} |a_n^{(t)}|^2 \end{aligned}$$

$$\begin{aligned}
&\leq 4\beta^2 t^2 |b|^2 + \sum_{n=t+k}^{t+(M+2)k-1} \{ |(2\beta-1)(n-t) + 2\beta tb|^2 - (n-t)^2 \} |a_n^{(t)}|^2 \\
&= 4\beta^2 t^2 |b|^2 + \sum_{m=1}^{M+1} \sum_{n=t+mk}^{t+(m+1)k-1} \{ |(2\beta-1)(n-t) + 2\beta tb|^2 - (n-t)^2 \} |a_n^{(t)}|^2 \\
&\leq 4\beta^2 t^2 |b|^2 + \sum_{m=1}^{M+1} \{ |(2\beta-1)mk + 2\beta tb|^2 - m^2 k^2 \} \\
&\quad \times \left\{ \frac{1}{m!} \prod_{j=0}^{m-1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right| \right\}^2 \\
&= \left\{ \frac{k}{(M+1)!} \prod_{j=0}^{M+1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right| \right\}^2 \quad \text{by using Lemma 1.}
\end{aligned}$$

This gives

$$|a_n^{(t)}| \leq \frac{k}{(n-t)(M+1)!} \prod_{j=0}^{M+1} \left| (2\beta-1)j + \frac{2\beta tb}{k} \right|$$

for $n > t + (M+2)k - 1$ which proves (2.4).

(b) If $\beta t[(n-t) \operatorname{Re}\{b\} + t|b|^2] \leq (1-\beta)(n-t)[(n-t) + t \operatorname{Re}\{b\}]$, then (2.11) gives

$$\sum_{n=t+k}^p (n-t)^2 |a_n^{(t)}|^2 \leq 4\beta^2 t^2 |b|^2$$

or

$$(n-t)^2 |a_n^{(t)}|^2 \leq 4\beta^2 t^2 |b|^2 \quad \text{if } n \geq t+k,$$

that is

$$|a_n^{(t)}| \leq \frac{2\beta t |b|}{(n-t)} \quad \text{if } n \geq t+k,$$

which gives (2.5).

The function $f(z)$, given by

$$(2.14) \quad f(z) = \frac{z}{(1 - (2\beta-1)z^k)^{\frac{2\beta tb}{(2\beta-1)k}}},$$

where $\beta t[(n-t) \operatorname{Re}\{b\} + t|b|^2] > (1-\beta)(n-t)[(n-t) + t \operatorname{Re}\{b\}]$, shows the estimates in (2.3) are sharp for $n = t + mk$, $m = 1, 2, \dots$, $t = 1, 2, \dots$, while

the estimates in (2.5) are sharp for the function

$$(2.15) \quad f_n(z) = z \exp \left(\frac{2\beta tb}{(n-1)} z^{n-1} \right),$$

where $\beta t[(n-t) \operatorname{Re}\{b\} + t|b|^2] \leq (1-\beta)(n-t)[(n-t) + t \operatorname{Re}\{b\}]$ and $n \geq t+k$.

3. Remarks on Theorem 1

(1) (i) Putting $b = (1-\rho) \cos \alpha e^{-i\alpha}$ ($|\alpha| < \frac{\pi}{2}$ and $0 \leq \rho < 1$) and $\beta = 1$, in Theorem 1, we get the result due to Bhatia and Rajasekaran [4].

(ii) Putting $b = (1-\alpha)$ ($0 \leq \alpha < 1$) in Theorem 1, we get the result due to Rajasekaran and Bhatia [19].

(2) (i) Putting $t = 1$, in Theorem 1, we get the result due to Owa and Aouf [18].

(ii) Putting $t = 1$, $b = 1$ and $\beta = 1$ in Theorem 1, we get the result due to MacGregor [11].

(iii) Putting $t = 1$, $b = (1-\alpha)$ ($0 \leq \alpha < 1$) and $\beta = 1$ in Theorem 1, we get the result due to Boyd [5].

(iv) Putting $t = 1$, $b = (1-\alpha) \cos \lambda e^{-i\lambda}$ ($|\lambda| < \frac{\pi}{2}$, $0 \leq \lambda < 1$) and $\beta = 1$ in Theorem 1, we get the result due to Gopalakrishna and Shetiya [7].

(v) Putting $t = 1$, $b = (1-\alpha)$ ($0 \leq \alpha < 1$) in Theorem 1, we get the result due to Mogra and Juneja [15].

(3) Putting $t = 1$,

$$(1-b, \beta) = (1-b, 1),$$

$$(1-b, \beta) = \left(1-b, \frac{2M-1}{2M} \right), \quad M > \frac{1}{2},$$

$$(1-b, \beta) = (1 - (1-\alpha) \cos \lambda e^{-i\lambda}, \beta), \quad |\lambda| < \frac{\pi}{2}, \quad 0 \leq \alpha < 1, \quad \text{and } 0 < \beta \leq 1,$$

$$(1-b, \beta) = \left(1 - (1-\alpha) \cos \lambda e^{-i\lambda}, \frac{2M-1}{2M} \right), \quad |\lambda| < \frac{\pi}{2}, \quad \text{and } M > \frac{1}{2},$$

$$(1-b, \beta) = (1 - (1-\alpha) \cos \lambda e^{-i\lambda}, 1), \quad |\lambda| < \frac{\pi}{2}, \quad 0 \leq \alpha < 1,$$

$$(1-b, \beta) = \left(1 - \cos \lambda e^{-i\lambda}, \frac{2 - \cos \lambda}{2} \right), \quad |\lambda| < \frac{\pi}{2},$$

$$(1-b, \beta) = \left(1 - (1-\alpha), \frac{1}{2} \right), \quad 0 \leq \alpha < 1,$$

$$(1-b, \beta) = \left(0, \frac{1}{2} \right),$$

$$(1-b, \beta) = \left(0, \frac{2M-1}{2M} \right), \quad M > \frac{1}{2},$$

$$(1 - b, \beta) = (1 - b, \beta),$$

$$(1 - b, \beta) = (1 - (1 - \alpha), \beta), \quad 0 \leq \alpha < 1,$$

in Theorem 1, we get the corresponding coefficient estimates for the functions of the form $f(z) = z + \sum_{n=k+1}^{\infty} a_n z^n$ belonging to the classes introduced by Nasr and Aouf [16, 17], Mogra and Ahuja [14], Kulshrestha [9], Libera [10], Goel [6], Wright [23], McCarty [12], Singh [20], Singh and Singh [21], Aouf, Owa and Obradovic' [3] and Juneja and Mogra [8], respectively.

(4) The results due to Nasr and Aouf [16, 17], Mogra and Ahuja [14], Kulshrestha [9], Libera [10], Goel [6], Wright [23], McCarty [12], Singh [20], Singh and Singh [21], Aouf, Owa and Obradovic' [3], and Juneja and Mogra [8] can be obtained by taking different values of the parameters b, β with $k = t = 1$ in Theorem 1.

References

- [1] M. K. Aouf, *Coefficient estimates for a certain class of starlike mappings*, Soochow. J. Math. 2 (1990), 231–239.
- [2] M. K. Aouf, *Coefficient estimates for bounded starlike functions of complex order*, Tamkang J. Math. 25 (1994), 113–123.
- [3] M. K. Aouf, S. Owa and M. Obradovic', *Certain classes of analytic functions of complex order and type beta*, Rend. Mat. 11 (1991), 691–714.
- [4] B. L. Bhatia and S. Rajasekaran, *Coefficient estimates for alpha-spiral functions*, Bull. Austral. Math. Soc. 28 (1983), 319–329.
- [5] A. V. Boyd, *Coefficient estimates of starlike functions of order α* , Proc. Amer. Math. Soc. 17 (1966), 1016–1018.
- [6] R. M. Goel, *A subclass of α spiral functions*, Publ. Math. Debrecen 23 (1976), 79–84.
- [7] H. S. Gopalakrishna and V. S. Shetiya, *Coefficient estimates for spirallike mappings*, J. Karnata Univ. Sci. 18 (1973), 297–307.
- [8] O. P. Juneja and M. L. Mogra, *On starlike functions of order α and type β* , Notices Amer. Math. Soc. 22 (1975), A-384, Abstract no. 75T-380.
- [9] P. K. Kulshrestha, *Bounded Robertson functions*, Rend. Mat. (7) 9 (1976), 137–150.
- [10] R. J. Libera, *Univalent α -spiral functions*, Canad. J. Math. 19 (1967), 449–456.
- [11] T. H. MacGregor, *Coefficient estimates of starlike mapping*, Michigan Math. J. 10 (1963), 277–288.
- [12] C. P. McCarty, *Starlike functions*, Proc. Amer. Math. Soc. 43 (1974), 361–366.
- [13] M. L. Mogra, *On coefficient estimates for λ -spirallike and Robertson functions*, Rend. Mat. (7) 3 (1983), no. 1, 95–106.
- [14] M. L. Mogra and O. P. Ahuja, *On spirallike, functions of order α and type β* , Yokohama Math. J. 29 (1981), 145–156.
- [15] M. L. Mogra and O. P. Ahuja, *Coefficient estimates for starlike functions*, Bull. Austral. Math. Soc. 16 (1977), 415–425.
- [16] M. A. Nasr and M. K. Aouf, *Bounded starlike functions of complex order*, Proc. Indian Acad. Sci. (Math. Sci.) 92 (1983), 97–102.

- [17] M. A. Nasr and M. K. Aouf, *Starlike function of complex order*, J. Natur. Sci. Math. 25 (1985), 1–12.
- [18] S. Owa and M. K. Aouf, *On coefficient estimates for certain classes of analytic functions of complex order b and type β* , J. Fac. Sci. Tech. Kinki Univ. 29 (1993), 5–11.
- [19] S. Rajasekaran and B. L. Bhatia, *Coefficient estimates for starlike functions of order α and type β* , Indian J. Pure Appl. Math. 10 (1984), 1115–1123.
- [20] R. Singh, *On a class of starlike functions*, J. Indian Math. Soc. 32 (1968), 208–213.
- [21] R. Singh and V. Singh, *On a class of bounded starlike functions*, Indian J. Pure Appl. Math. 5 (1974), 733–754.
- [22] R. S. L. Srivastava, *Univalent Spiral Functions*, Topics in Analysis, 327–341 (Lecture Notes in Mathematics, 419, Springer, Berlin, Heidelberg, New York, 1974).
- [23] D. J. Wright, *On a class of starlike functions*, Compositio Math. 21 (1969), 122–124.

Box 102278

JEDDAH 21321

KINGDOM OF SAUDI ARABIA

e-mail: alyamy@hotmail.com

Received October 16, 2003.